Chemistry 12 Unit 2 - Chemical Equilibrium

17.

18.

Given the equilibrium equation:
XYg) + heat = X)) + ¥y

If initially, at equilibrium, the [XY] = 3.0 M. the [X]}=5.0M and the [Y] = 6.0 M, draw
a graph similar to the one in guestion 16 showing qualitatively what happens to the
concentrations of each species as the following changes are made to the system:

Time I - The temperature is increased.

Time II - Some X(y) is added to the system

Time IIT - Some Y ) is removed from the system !
Time IV - The temperature is decreased,
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For each of the following reactions, predict whether the entropy increases or decreases.
Fnios Lrmg d
ay 2Hzg + O2gy = 2HfO¢g)cooeoiieeeee... Answer @t Yoo
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b) 25034, == 2502(‘3{“ 4 TP Answer ___ | NC Yoo
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) MgCOj) 2H30%@aq == Mg2+(aq) -+ 31'1720(1) + CO2¢py

Answer rivveapo.
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e) 2c2H2(g)m49502(g) = 4CO0ap) + 72H20(g) ..... Answer dQ CYeonas”

f) NHig + HClg T2 NHACs)oooooooaeonn... Answer Q!,QC Voo -
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